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Sixth Semester B.B.M. Degree Examination,
NOVEMBER/DECEMBER 2016

(2010 Scheme)

(SBF 420/250) STATISTICS FOR MANAGEMENT - II

SECTION - A/ 2%5m - &

Answer any THREE questions. 5 Imarks each :
0IRFHTCR SJaetd JBriert euddr. 3vs § vosnw :

Define cost of Living Index Number. What are its uses?
B3 U iﬂﬁ%&ﬁ’d&i:ﬁ‘%ﬁ:@m ©oo svIolecrnindesy?

Define Regression. What are the properties of Regression co-efficients?
botoRS®), TR oo e JBeEnYR), HS0A

From the following data, estimate the value of Y. when x = 30 and 50.
8 $¢NS 3908000 XJ 38 30 303y 50 wwen Y o), Fomd LBoWD :

X Y
Mean
Standard deviation

Co-efficient of correlation = 0.42
B30y rong = 0.42

A dice is tossed 120 times with the following results.

No. of turned up :

Soed B o, - 1 2 3 4 0586
() C

Frequency :

EXTE 30 25 18 10 22 15

-

Calculate the value of 7? at 5% level significance.

[Max. Marks : 80

3x5=15

%000 Ta¥sh 120 B0 sudodiolid. 8 Joeds D3ceadn 3TN, 7°s SeI[RY, Tory LBOD.

(5% eBF3s Sotiga svaadechy).
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S.

Interpolate the missing value from the following with the help of suitable formula :
An8 3o 3ol FB0LDOT I IR DFed

Y :
SR 2005 2006 2007 2008 2009

Population (in lakhs) : .
maiﬁoa% (e8rvd) : 100 107 ? 157 212

SECTION - B/ 2ar -

Answer any TWO questions. 10 marks each : 2x10=20
QIRFTwte Som> SEridn sugd. 3o 10 Bogrieh :

What are Index Numbers? Explain the problems in the construction of Index
Numbers.

AR08 H0WBERDL? AR 0TNYR) Judmen 2o BR0%, DIV

Write the types of Correlation.
s 303/ IPrids), HIOL

Draw the Mean and Range chart for the following data and state your conclusion :
30050 Sy BegFaros T WYrIVR), B EYToR TIF HIDD AN R RFIIN), 39N :

Sample No. :
3;“;35095:123456739101112

S le M :
2ndd Zosgh:  69.4 63.4 57.0 64.0 57.4 82.0 85.0 33.4 46.0 112.4 93.6 95.6

S 1 :
ﬁg:ﬁgﬁ 45 48 62 48 36 81 78 42 69 84 48 75

(Given data N =5,A, =0.577 D3 =0, D; =2.115)

Construct the cost of Living Index using the aggregate expenditure and family budget
method :

&1 39NT TR oshod B3 I ;'ims%oﬂdﬂg‘ o) LB :

Commodities :
Sy " A B €C D E F G H
.‘_ﬂ

Quantity 2012 :

38mm2012: - 200 50 50 20 40 S0 60 40

Price : 2012 10 30 40 20 25 100 20 150

e
2013 12 35 50 30 S0 150 25 180
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10.

11.

[a—
3

SECTION - C/ 2 - &
Answer any THREE questions. 15 marks each : 3x15=45
0lRFTETR ST ﬁ_,éqri@ﬂ 0302, 3w 15 woFrieh !

What do you mean by Statistical Quality Control? What are the advantages of
Statistical Quality Control?
Roax, reasdobd, dodrod e Hoddesh? ¥TT suIolaerninids) I3

The following are the marks obtained by 132 students in a test x and y. Calculate
(a) The co-efficient of correlation
(b) Probable Error

& $980d Way08B00 (a) FBRow0H MHBIIR), Fore (b) Hogideod IZyiva Somd LB :

) Y1 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | Total
20-30| 2 5 3 - - 10
30-40 | 1 8 | 12 | 6 _ | 27
4050 | - s | 22 [ 14 | 1 42
50-60 | - 2 | 16 | 9 2 | 20
60-70 | - 1 8 6 1 16
70-80 | - - 2 4 2 8
Total | 3 | 21 | 63 | 390 | 6 2
1B | -

From the following, calculate :
(a) Two Regression Equation
(b) Co-efficient of correlation based on b,, and By

(c) Estimate the value of y when x= 50
& 9N wxo8hod :

(a) * 2UB) borted AR0eTD

(b) by @re by, susaleehl ZaEzouoRs MBI e

() x=50umen y s weabs), sors HRawD.

x: 56 42 72 36 63 47 55 49 38 42 68 60
y: 147 125 160 118 149 128 150 145 115 140 152 155
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13.

14.

From the following data, calculate the price index number by using.
(a) Laspeyer’s method

(b) Paachey’s method

(c) Fisher’s Ideal Index Number methed and

(d) Show how Fisher method satisfies FRT and FRT conclusions

Commodities 2012 2013
Price Value Price Value

A 16 1280 19 1710
B 17 1700 22 3080
C 16 960 23 1610
D 19 760 21 1050
E 15 900 16 1280
F 12 600 16 1440

8 Deeord T3z08000 136 RALR,0FNVE) B EUE0R JTIrivrt BTN Fordd LBOWD.
(a) ePzBeadof Sa3

(b) = Ic3

(c) &80 Tgs

(d) et d80° :-mqa FRTA 33»masdmis 303y FRToD euSEose03s), 393,

From the following data using Newton’s method :

(a) Estimate the number of persons earning between Rs. 5,200 and Rs. 6,500.

(b) Find the number of persons earning wages above Rs. 6,500.
B 39508 §3208D00 B8R tin's SREDoDHR) 8ROF0 !

(a) o) uIcLT 5,200 Bod T 6,500 res), riPxHzT Homd vowzid.

(b) o) &m0 6,500 03 B KowYITY, NYRI]T FoR> LRAWD.

Wages ) No. of Persons

Bow¥ }) S3nv moxd,
Below-2000 200
2000-4000 i 300
4000-6000 150
6000-8000 70
8000-10000 80
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